Polymak’

Solutions Provider For Industry & Trade

P M 1 2 E R ELECTRIC ROUTER

Power:1500W
No load speed:23000r/min
Collet Size:12mm

Net weight:6.5kg

www.polymak.co.in

Solutions Provider For Industry & Trade

Polymak’

No. |Part Description Qty | SeriNo| INR No. [Part Description Qty |SeriNo] INR
1 Motor housing 1 39 | Carbon brush 2
2 Stator 1 40 | Brush holder 2
3 Fan baffle 1 41 | Adjusting nut 1
4 Bearing 1 42 | Bolt for adjusting nut 1
5 Rotor 1 43 | Cable protector 1
6 Screw M4X10 2 44 | Cable and plug 1
7 Press plate 1 45 | Supporting rod 1
8 Bearing 1 46 | Spring 2
9 Right handle cover 1 47 | Slide sleeve 2
10 nght handle 1 48 screw M5X10 2
11 | Support 1 49 | Sleeve component 1
12 | “O” Ring ®20x2 2 50 | Wing nut M5X16 3
13 | Screw ST5X40 4 51 | Spring 4
14 | Spring 1 52 | Screw 1
15 | Left handle 1 53 | Spring 1
16 | Collet nut 12mm 1 54 | Bolt M5x40 1
17 | Left handle 1 55 | Bolt M5x28 1
18 | Left handle cover 1 56 | Bolt M5x16 1
19 | Screw M6X35 2 57 | Nut M5 3
20 | Torsional spring 1 58 | Positioning turntable 1
21 | Screw M10X20 1 59 | pin ®5x32 2
22 | Plunge lock level 1 60 | Base 1
23 | Bolt M5X12 1 61 Base 1
24 | Spindle kick button 1 62 | Screw M5x10 4
25 | Circlip ®12 1 63 | Transparent 1
26 | Spindle lock 1 64 | Screw M5X10 1
27 | Spring 1 65 | Guide rod 2
28 | Bracket separator 1 66 | Bolt ®4x20 2
29 | Pepth stop 1 67 | Support Seat 1
30 | Screw ST4.8X70 2 68 | Position bolt 1
31 | Nut 1 69 | Screw M6X10 1
32 | Switch box cover 1 70 | Big Wrench 1
33 | Switch 1 71 Bracket 1
34 | Screw M4X6 2 72 | Small Wrench 1
35 | Screw ST4X14 2 73 | Collet chuck ®8mm 1
36 | Cable clamp 1 74 | Collet chuck ® 6mm 1
37 | Screw ST4x20 2 75 | Guide plate 1
38 | Brush holder cap 2 76 | Roller assembly 1




	页 1

